Efficiency vs dr

=
N

efficiency vs AR
o
) B
I L ! L

o
2}
T

©
D
LI L

0.2~

T T T

DQM _mkFit_step2_ttbar-phasel- newgeom
DOM an le ste 2_ttbar-phasel-newgeom
DQM fa s‘fe _ttbar-phasel-| new eom

Ratio

TP

L Iu
107 1072 107 1
TP min AR

[ Efficiency vs dr (track,jet) |
.§0.05
0.045F
)
m —
<l0.04
9.035F
>
20.03F
2
35=9.025—
3]
0.02
0.015F
0.0
0.005

107 1072 107
AR(TP, jet)

Efficiency vs pu

©
a

0.45

0.35

efﬂmency vs PU
o
D

o
w

0.25
0.2
0.15
0.1
0.05]

q

0.8

Ratio

06 v H = i i i T 171 I~ "--"
20 30 40 50 60 70 80 90 100
Pileup




	Contents
	Page 1


